

JERARQUÍA DE OPERACIONES

Selecciona la respuesta correcta.

$$(8 - 2) \times 4 + 3$$

27

42

$$6 \times 4 + 2 \times 3 - 15 : 5$$

142

27

$$31 - 5 \times 6 + 8 \times 4 + 30 : 6$$

37

114

$$6 \times 5 : (20 - 10) + 9$$

42

12

$$(52 + 11) : 9 + (15 : 5)$$

24

12

$$25 + 7 + 40 : 5 - (10 - 5)$$

35

124

$$(10 + 5) - 3 \times 2$$

24

9

$$5 \times 4 + 30 : 6 - 35 : 7$$

38

20

$$(7 + 3) \times 16 - 12 : (4 - 2)$$

127

154

$$30 : 3 + 9 + 3 \times 6 - 10$$

27

48

$$(5 + 8 + 3) : 4 \times (12 - 6)$$

10

24

$$(12 + 8) : 2 - (10 - 3)$$

3

36